
Question 1

What tasks does human resource management involve?
 
মানবস�দ পিরচালনা �কান কাজ�িলেত জিড়ত?

Question 2

Total income of a country divided by its total population is termed as:
�কানও �দেশর �মাট জনসংখ�ার �ারা িবভ� �মাট আয়েক বলা হয়:

Question 3

Development of a country can generally be determined by its --------------
 
এক�ট �দেশর উ�য়ন সাধারণত এর �ারা িনধ �ািরত হয় --------------

Question 4

Dual economies are what type of countries?
 
��ত অথ �নীিত িক ধরেনর �দশ?

Question 5

Economic growth measures the
 
অথ �ৈনিতক �সার পিরমাপ কের

Question 6

The Lewis model of the dual economy makes the following assumption(s)
 
��ত অথ �নীিত লুইেসর মেডল�ট িন�িলিখত ধারণা�িলর উপর �িত��ত

Question 7

Structural change refers to when
 
গঠনগত পিরবত�ন তখন হয় যখন

Question 8

The Lewis model explains how growth gets started in a less developed economy
 
লুইেসর মেডল অনযুায়ী এক�ট �ে�া�ত অথ �নীিতেত �সার �� হয় তখনই যখন

Question Bank For BDP Course
ঐ��ক পাঠ�ম (Elective Course)

অথ �নীিত ( Economics )
স�ম প� ( 7th Paper )

EEC-07: Developmental Economics (Advanced) & Mathematical Technique in Economics



Question 9

When the marginal product of labour in the traditional sector is positive, the modern sector needs to pay a wage which is
 
যখন ��ািডশনাল ��ে� �েমর উৎপাদনশীলতা ধনা�ক, তখন আধুিনক ��� �য মজরুী �দান করেব তা

Question 10

Arrange the following Rostow's stages of economic growth in their proper sequence: 
I. Traditional society; 
II. Take-off stage; 
III. Age of mass consumption; 
IV. Drive to maturity
�মানযুায়ী Rostow-র অথ �ৈনিতক �সােরর �র�িল হে� :
I. ��ািডশনাল সমাজ ; 
II. Take-off �র ; 
III. গণেভােগর অব�া ; 
IV. পিরণত অব�া

Question 11

For Marx, human potential is actualised
 
মাক�েসর ধারণা অনুযায়ী মানিবক স�াবনা তখনই স�ঠক হয়

Question 12

____________ is the amount of socially necessary labour-time needed to produce an article under the normal conditions of production and with the average
degree of skill and intensity of the time.
 
_________ হে� সামা�জকভােব �েয়াজনীয় �মিদবস যা �াভািবক অব�ার উৎপাদন এবং গড় দ�তা এবং সমেয়র িনিবড়তা অনুযায়ী �ব� উৎপাদন কের।

Question 13

Under which of the following conditions will there be the possibility of trade between two countries ?
 
িন�িলিখত �কান অব�া অনযুায়ী দু�ট �দেশর মেধ� বািণজ� সংঘ�টত হয়  ?

Question 14

Which of the following is not a possible cost of high fertility rates and rapid population growth ?
 
িন�িলিখত�িলর মেধ� �কান�ট অিধক জ�হার এবং �ত জনসংখ�া ব�ৃ�র কারণ নয়  ?

Question 15

Malthus's theory states that population
 
ম�ালথাশ-এর ত� অনযুায়ী জনসংখ�া

Question 16

Demographic transition describes the shift from
 
�ডেমা�ািফক পিরবত�েনর ফেল



Question 17

Disguised unemployment is
 
ছ� �বকারে�র অব�ায়

Question 18

International Trade is most likely to generate short-term unemployment in
 
আ�জ�ািতক বািণেজ�র ফেল ��কালীন �বকার� স�ৃ� হয় 

Question 19

Which of the following is not a benefit of international trade?
 
িন�িলিখত�িলর মেধ� �কান�ট আ�জ�ািতক বািণেজ� সুিবধা নয়  ?

Question 20

Two matrices A and B are multiplied to get BA if
 
দুেটা matrix A এবং B  �ণ কের পাওয়া �গল BA

Question 21

Question 22



Question 23

A dietician wishes to mix two types of foods in such a way that vitamin contents of the mixture contain at least 8 units of vitamin A and 10 units of vitamin C.
Food ‘I’ contains 2 units/kg of vitamin A and 1 unit/kg of vitamin C. Food ‘II’ contains 1 unit/kg of vitamin A and 2 units/kg of vitamin C. It costs Rs 50 per kg to
purchase Food ‘I’ and Rs 70 per kg to purchase Food ‘II’. Formulate this problem as a linear programming problem and what will be the minimum cost?
একজন Dietician দু�ট খাদ�ব�র মেধ� এমন এক�ট িবন�াস চান যােত িম�েণর Vitamin content কমপে� 8 একক Vitamin A এবং 10 একক Vitamin C  হয়। I খাদ�ব� I-
এ 2একক /kg Vitamin A এবং 1 একক/kg Vitamin C আেছ। খাদ�ব� II-এ 1একক/kg Vitamin A এবং 2 একক/kg Vitamin C আেছ । �িত kg খাদ�ব� I-এ খরচ 50 টাকা
এবং II-এ খরচ   70 টাকা।এ�টেক Linear Programming Problem-এ পিরণত ক�ন এবং সব �িন� ব�য় কত   হেব  ?

Question 24

A cooperative society of farmers has 50 hectares of land to grow two crops X and Y. The profit from crops X and Y per hectare are estimated as Rs 10,500
and Rs 9,000 respectively. To control weeds, a liquid herbicide has to be used for crops X and Y at rates of 20 litres and 10 litres per hectare. Further, no more
than 800 litres of herbicide should be used in order to protect fish and wildlife using a pond which collects drainage from this land. How much land should be
allocated to each crop so as to maximise the total profit of the society ?
এক�ট Cooperative society-র কৃষকেদর কােছ 50 �হ�র জিম আেছ যােত দু�ট শস� X আর Y ফলন করা যায় । X এবং Y �থেক �া� মুনাফার পিরমাণ �হ�র �িত
যথা�েম Rs. 10,500 এবং Rs. 9,000. Weeds -�ক িনয়�ণ করার জন� একটা তরল Herbicide ব�বহার করা �যেত পাের — X এবং      Y-এর ��ে� যথা�েম  20 িলটার
এবং 10 িলটার �হ�র   �িত । তাছাড়া এক�ট পুকুর ব�বহার কের মাছ এবং বন��াণী সংর�েণর জন�  800 িলটােরর �বশী Herbicide ব�বহার করা যােব না, যা জিম �থেক
বজ�� পদাথ � িহসােব আসেত পাের । এে�ে� Society-র �মাট মুনাফা সেব �া� করার জন� দু�ট শেস�র ��ে� কত কের জিম ব�বহার করা �যেত পাের  ?

Question 25

Leontief’s model is open due to the fact that final demand is given from ............ the system.
Leontief’s model �ট open কারণ final demand আেস system �টর ............�থেক 

Question 26

Isoquants in Leontief’s input- output model are
Leontief-এর input-output মেডেলর Isoquants �িল 

Question 27

Hawkins-Simon condition explains the ............ condition in Input-output model
Hawkins-Simon শত��টর Input-output মেডেলর ............ িনণ �য় কের

Question 28

If own-price elasticity of demand equals 0.3 in absolute value, then what percentage change in price will result in a 6% decrease in quantity demanded ?
যিদ িনজ চািহদার দাম ি�িত�াপকতার চরম মান 0.3 হয় তাহেল কত শতাংশ দােমর পিরবত�েনর ফেল 6% চািহদা কমেব  ?

Question 29

With fixed cost of Rs. 400, a firm has average total cost of Rs. 3 and average variable cost of Rs. 2.50. Its output is
যিদ ি�র ব�য় 400 টাকা িনেয় এক�ট ফােম �র গড় ব�য় Rs. 3 হয় এবং গড় পিরবত�নশীল ব�য় Rs. 2.50 হয় তাহেল এর উৎপাদেনর পিরমাণ

Question 30

Quantity           Price 
           5                 Rs. 15 
           6                 Rs. 15 
           7                 Rs. 15
In the above table, if the quantity sold by the firm rises from 6 to 7, its marginal revenue is
Quantity           Price 
           5                 Rs. 15 
           6                 Rs. 15 



           7                 Rs. 15
ওপেরর �টিবেল যিদ ফােম �র  িব��র quantity 6-7 হয় তাহেল এর �াি�ক আয় হেব 

Question 31

According to Lewis’ model, the Dual economy grows only when 
লুইেসর মেডল অনসুাের, ��ত অথ �নীিত তখনই ব�ৃ� পায় যখন

Question 32

The Harris- Todaro model analyzes
হ�ািরস-�টাডােরা মেডল িবে�ষণ কের

Question 33

Capital intensive technique of production would get chosen in
মূলধন িনিবড় উৎপাদেনর �কৗশল চয়ন করা হেব

Question 34

Rostow's economic stages are:
Rostow র অথ �ৈনিতক �র�িল হ'ল

Question 35

The vicious circle theory states that
দু�চে�র ত��ট বেল �য

Question 36

As economic development proceeds, income inequality tends to follow a/an ---------- curve.
অথ �ৈনিতক িবকাশ যখন এিগেয় চেল, আেয়র �বষম� এক�ট  ---------- �রখা অনুসরণ কের ।

Question 37

Karl Marx's historical materialism views were shaped by all of the following except 
কাল � মাে� �র ঐিতহািসক ব�বাদী মতামত�িল নীেচ বােদ সম��িল �ারা �পা�িরত হেয়িছল

Question 38

Which of the following is not correctly matched?
নীেচর �কান�ট স�ঠকভােব �মেল না?

Question 39

Balanced growth implies
ভারসাম�যু� ব�ৃ� �বাঝায়

Question 40

The first stage of the theory of demographic transition is characterised by:
�ডেমা�ািফক �ান�জশন তে�র �থম পয �ায় হল



Question 41

A stationary population is when population growth is
এক�ট ি�িতশীল জনসংখ�া হেলা যখন জনসংখ�া ব�ৃ� হয়

Question 42

The unemployment rate is the 
�বকারে�র হার হ'ল

Question 43

The invisibly underemployed 
অদৃশ�ভােব �বকার

Question 44

For neo-classical theorists, economic under-development is the product of which of the following? 
িনও-�ািসক�াল তা��কেদর জন�, অথ �ৈনিতক আ�ার-�ডেভলপেম� নীেচর �কান�টর উৎপাদন কারণ?

Question 45

Which of the following statements are (in general) true?
িন�িলিখত িববিৃত�িলর মেধ� �কান�ট (সাধারণভােব) সত�?

Question 46

f(x) = 3x³ - 4x² + 10 implies
f (x) = 3x ³ - 4x ² + 10 �বাঝায়  

Question 47

For the demand function Q1 = 10 - 9 P1 + P2 + 0.01Y which of the following statements are true?
চািহদা ফাংশেনর জন� Q1 = 10 - 9 P1 + P2 + 0.01Y  িনেচর �কান�ট সত�?

Question 48

If for the non-singular matrix A, A² = I, then find A inverse.
যিদ A-non-singular ম�া��� A, এবং A²= I হয়, তেব A inverse স�ান ক�ন 

Question 49

For the function Q = A(Kˆa)(Lˆb) which of the following statements are true?
Q = A(Kˆa)(Lˆb) ফাংশেনর জন� িনেচর �কান�ট িববিৃত সত�? 

Question 50

Which of the following functions have unit elasticity at P = 6?
িন�িলিখত ফাংশন�িলর মেধ� P = 6 এ ইউিনট ি�িত�াপকতা রেয়েছ?

Question 51



Which of the following functions are not homogeneous of degree 1 (i.e. linear homogeneous)?
িন�িলিখত �কান ফাংশন�ট  homogeneous িডি� 1 নয় ? (�যমন িলিনয়ার সমজাতীয়)

Question 52

y = 100/x + 4x has
y = 100 / x + 4x এর আেছ 

Question 53

For the demand and supply functions, Qd = 10 - P, QS = 3P -2, the equilibrium (P,Q) is :
চািহদা এবং �যাগান অেপ�ক �িলর জন�, Q d = 10 - P, Q S = 3P -2, ভারসাম� (P  , Q ) হ'ল:

Question 54

A firm with total costs TC = 50 + 3Q for Q units of output, which sells its output at price P = 5, breaks even at the output level:
এক�ট ফােম �র �মাট ব�ায় অেপ�ক�ট যিদ TC = 50 + 3Q হয়, এবং ফাম ��ট যিদ P = 5 দােম �ব� িব�� কের তাহেল �কান উৎপাদন মা�ায় ��ক-ইেভন হেব?

Question 55

For a firm whose total cost and total revenue functions are given by: TC = mQ + c , TR = P.Q which of the following statements is true?
�য ফােম �র �মাট ব�য় এবং �মাট আয় function �িল TC = mQ + c , TR = P.Q, তার ��ে� নীেচর �কান ব�ব��ট �ঠক?

Question 56

f(x) = 3 - 5x - 8x² - x³ means
f(x) = 3 - 5x - 8x² - x³ �বাঝায়

Question 57

Economic development refers to
অথ �ৈনিতক উ�য়ন বলেত �বাঝায়

Question 58

If in 2002, GDP of India is Rs. 130 million and its population is 20,000, GDP per capita is
2002 সােল যিদ ভারেতর GDP Rs. 130 million হয় এবং জনসংখ�া 20,000 হয়, তাহেল মাথািপছ�  GDP

Question 59

Dual economies are countries
��ত অথ �নীিতস�� �দশ�িল হে�

Question 60

A supply side vicious circle of poverty suggests that poor nations remain poor because
�যাগােনর িদক �থেক দািরে��র দু�চে�র ফেল গরীব �দশ�িল গরীব থােক কারণ


